ot ASATRERL L 101 9 B 7

PR AT — 2 RN
G TR~ ﬁﬁ%‘)

dx dx .

(20%) (a) —— 4d— +3x=8e" > ¥ x(0)=4 m

=-2 S ijiggﬁj/;fﬁjlé o

(b) =f first order homogeneous equation [ i : (xe" + y)dx—xdy=0

(20%)  (a) &~ JlIFreRL k- FERe s Bl T AL?

‘xz‘, xsinnx, x3sinnx, sinX-—cosx, x|x|

(b) f(t)=t?/4 (-asmt=m); F(t+2m)=F(@t) T B8RY-

1 1 1 1 7l
Cc IF l__ + - — .. - o
©) &t 49 16 25 12

(20%) I J3b gm0 T A

‘F_H+WZO"X®=&wm:3

y'—y+2x=0
21 3 1
(%) EFIHA= |3 1 3 ﬂ ()it A FUgs TR R (FETEAE T 7 1) = (b)
3 3 68 2
FIFTRAS L AR R o (P ETIfIE! X=[4,.1,2.5] AL A fros| 2
]
a b < Za ik 3¢
(%) HE |d ¢ fl=5-3F|3d-a 3e-b 3f-c|-
g h 1 dg=3a 4h-=3z H-+=3c

(18%) (a)#/ LII%E[[SF;[ A= :ig i UFH—"‘ ﬁ@ﬁ@ﬂ a:j‘r‘% [/’ﬁ] C e lJ* [[—{ELE[‘E (b)ﬁ

prae-B=[ 2| -
(9%) V= wiyr+ans® U@V (L-2-0) I 26, - 6, — 26, Ui
OREE

<FHEA P>



